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QUESTION 1

What does the switch do with the frame?

A. Flushes the destination MAC address and updates the MAC address table in the switch.

B. Adds the source MAC address and port to the MAC address table and forwards the frame.

C. Discards the frame on all ports and sends an error message back to the host.

D. Floods the frame to all ports except for the port the frame originated from to locate the source MAC address.

Correct Answer: B

QUESTION 2

Which topology is considered a best practice when stacking switches?
A. Ring

B. Cascade

C. Serial

D. Daisy-chain

Correct Answer: A

QUESTION 3

Which type of domains are connected by a Layer 2 switch?
A. Single collision domain and a single broadcast domain

B. Multiple broadcast domains and multiple collision domains
C. Multiple collision domains and a single broadcast domain
D. Single collision domain and multiple broadcast domains

Correct Answer: C

QUESTION 4

Which option is used to configure Network Address Translation (NAT) to provide one-to-one mapping between local and
global addresses?

A. Outside source static
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B. Overload
C. Inside source static
D. PAT

Correct Answer: C

QUESTION 5

A network administrator is troubleshooting an OSPF routing issue. There are two paths to a destination network from
one switch. In addition, one path is comprised of four 1 Gb links. The other path is comprised of two 1 Gb and two 100
Mb links. The administrator ran several trace routes and notices that the packets are swapping back and forth between
the two paths.

Which corrective action must be taken on the switch infrastructure to correct this issue?

A. Manually specify the OSPF Router ID on each switch within the path.

B. Break the paths into multiple OSPF areas.

C. Change the reference speed used by OSPF in cost calculations on all switches within the path.

D. Switch all routing protocols to RIPv2.

Correct Answer: C
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